EARAROBEEIERT — 2 N— IBISH —F

20195F9A27H (£) 10m55#4H

mﬂﬁ%Zﬁ%ﬁH##% HSR2K (w8 | imEmml - |5 @) o s
[AE4£] 17 :430,000 ™  23%&:99,000"  33%&:43,000 M  43%&:31,000H . 57&:22,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
c e e 4 2 | FEERE 1:29.4 3-3-2-1 [39.3| — 2 447 | EFEF (%1R)
117l g | RNV R=TJzIbFa 54.0 s +2) SN NS
R:obhwH7—IL R B:7ON>%2— b H VS
4 2 | BEREAE 1:29.9 1-1-1-2 | 40.0| — 1 451 | BB (5542)
28|10 7Y ARLILFR 54.0 @ 1/2) wy | SAALR
L:7v3I7—L B:77—XbXX HET7— L
> i o2 | EHEN 1:30. 2-2-4-3 [39.6| — 4 420 | HEEFEE (%)
35|55 | NF/ET1I 54.0 (7€) (-7) | HEPUEER )
oxALIZTy—R BNZ/ I T BREMHT Y KFv T - Tr—L
= = s 2 | o 1:30.1 7-7-5-4 | 39.4| — 5 483 | HEFHEE] (%)
4 6| A EZTT 54.0 (3/8) 4y | BBE :
R:xA1=F 77— B:t57 =R77—L4
. I B2 | EBEh 1:30.4 5-5-6-6 |39.8| — 3 433 | HEEFIEE] (55H2)
5 3| A—=X L1y 54.0 (11/2) o) =B :
LN—HINK B xAvyI4—2 HE EAR
i 2 | RERZ 1:31.0 6-6-3-5 | 40.6 | — 6 433 | KEFEA (5212)
617 7 E S i (N 54.0 3) +9) RIRH
L:7UF—v BETIAH-N =EicEae
- . NG :32. —-8-8- . — KBEK (%)
7lglglEFLVUIZR i 2 % 1(392)9 8-8-8-8 | 41.1 8 <4+622) i A
:aAxX—b B:XHDA4TV2TIL N -
S = B2 | DNEREE— 1:33.4 4-4-7-7 | 42.4| — 7 434 | EEER] (Z4)
8 4 Iq(M>>73do 54.0 (2 1/2) (+4) EREASE :
R:GFLTYRR B:TITU—RT > SRS
. 5 4 2 | RINARI 1:35.0 9-9-9-9 |425| — 9 402 | BEES (E1)
9 2 A4 —H— 54.0 (8) (-5) EEBEA i
LetrsnJaA B:orxA4va7— B 245
= 3 ft o2 | WTHRZ 1:38.5 10-10-10-10{ 45.1 | — 10 | 304 |BEHF (BHE)
100 11 1 TxEA KD 54.0 (&4 4%) 0 1>42—71—2Z (RA)
RIAY>TTyoa BHAREUT FUALTr—L
® 1—F—@EBIERL
1T=7r= 10,5,8,4,3,7,6,9,2,1
20—F— 10,5,8,4,3,7,6,9,2,1
30—4— 10,8,7,5,6,3,4,9,2,1
40—+ — 8,10,5,6,7,3,4,9,2,1
[ N5
B 8 380H 714K 8-10 130M e E 7-8 290 JEE 5-8-10 800F4
B B 8 180H4 5-8 410 B = 8-10 290M JEE 8-10-5 2,790
10 120M4 5-10 290M B H 8-10 640M
5 260M

ABICOVWTRDTEEERROODE. TR LIV,



